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i mn:a"'“gf“l Pﬂl‘ﬂgrﬂph then Hn;war ﬂlﬂ gwen

j'i'bﬂﬂﬂ thﬂt ch;mﬂd rEpEd’iﬁEd [}"

it said, “Here you g0, ynung lad}r, u:g oy }faur ice-
cream ﬁandwmh 2 -

this is; don’t wait for your customers to come to
you; go out and find them?” o '

it.

. the street.

.."“Wh;ch of the fulluwmg shnuld be the: SECE}ND-

- _sentence ﬂﬁlﬁl’ the anangﬂmant‘? |
DA 3){3 4]D ' 5)E

2)B

3)C 4)E S)D

G

. %f“‘ , the rearrangement*?

e o

= ¢ D B

- iﬂnsgf't 6-15): Read the fﬂ!iuwmg passage
efully and answer the questions given. Certain words/

s s
SEE 1: ’3}”
1 % _J_ .- A Al

%,ﬁﬂﬂﬂ given in bold to help }'ﬂu locate them

, there lived a gardener. He was

o ue&t Ha had planted different fypes
o flj.:. M :'7:_._, Iﬂsﬁ Iﬂ hlS gar den. H e hﬂd a }pnunger. :
B fﬂﬂlﬁh_and E&Z}' He would neverh help the:
e e i ]nﬁt . &d ”h’ﬁ w{:ruld sa}; - lht..re l‘i no -

.-\.-'

Reﬁrrﬂngﬂ ﬂw fnilnwmg five
(C}’ (D) and (E) in a proper sequence to

JPf__’I_"hE big ﬂrange truc:k was playmg music and ’nad “

__)_ When Lisa approached the ek fhe man inside

(D) Several penpl& attracted by [he bells were walkmﬂ '
uptoit and speakmg tn a man ‘Wh{} stm}d inside

(E) One day, Lisa walked to the fmnt of her house
: and was surpr[sed to see @ blg ﬂrang,e iruc:k u:m_'

i "'iiéh - fth . i‘nllﬂﬁiﬂ“ should be the THIRD sentence

. '*'"f"eft he following should be the LAST (FIFTH)

- need to wurfs. S{} hfmi Hrﬂthtrf Nathrﬁ W}H mhn care of
S

Onee it so huppmﬁd that the sardener had to goto a

'- _nearl::y town for a week. ‘Please water the plants and trees
inmy 'thsr:m.t:” said the gardener to his younges brother.
‘Some pidnts need (o be watered daily while some others

only on alternate days.’ the gardener explained. But his

.Wﬂrds fell on deaf ears. The gardener left for the town.
- Now th&laz} bmt}‘uf:rthnuvht “Why should [ bother about
these plants and trees? My brother is away and he wouldn’t
~ know whether 1 am watering his garden or not.” Then, he

; e went to sleep as usual,
Lisa was amazﬂd and sau:l “What a hr:[lmnt idea. -

Two days had passed. Now the small plants had star ed

dying up. The lazy fellow glanced at them and laughed.

‘Hahaha! Poor dumb plants! They cannot even complain
to my brother that I am not watering them!” Afier a week

when the "ﬂl‘dﬂl‘lﬂt‘ retmned he was shocked to see the
mmiserable canditmn nf his garden. Most of the plants had

died, the climbers had dried and the trees looked diseased.
“So it seems you didn’t water the plants,” he vﬂHLd at his
lazy brother. ‘I did. But the plants were of bad quality, so

_ they died!” said the lazy brother.

‘The gardener knew that it was no use talking to his
brother. So he cleaned | is garden and nursed the discased

. irees He then went to the market and brought some seeds.

When his brother saw him preparing to sow the seeds, he
came near him. *And that’s it. Brother! Don’t 1 tell youthat

. hature takf:s care of itself? See those seeds! You will sow
*them and once again your garden will be ready as green as

ever.” “You are right,” said the gardener. ‘But have you ever
thought about where these seeds come from?, ‘From the

 market, of course!” replied his brother. ‘And how did they

reach the market?” the gar dener ‘Ei'-?kEﬂEi again. This time his
':hrﬂﬂu:l had no reply, ‘Uuuuuhm“ he kept searching i{uﬁ
words, “I'll tell you!® said the gﬂl’dﬂﬂﬂi’ The seeds also

. come from the plants and trees. If we d(}ﬂ { mi{e pr {}pm

care of the plants. the seeds too will die. And 2 day will
come when there will be no new. seeds t-a SOW, liﬁw will
}’Ell] g,mw plants the};;? And how will you get %gatahltﬁ .

! W{an t you dm s::-f hﬂn g,t:r’?* ‘Oh




 brother in nurturing the plants and

Z)HE:bcé:_hme wﬁicﬁty:-- .
) Hi“ﬂ h_atred tﬂwards hlS hl'ﬂthﬂ;l‘ ampl ified.

if théfﬁ :5 a_ﬁjr g?rammatlcal'm:s_takﬂermr in 1t Thc error,

L R

A
e

| 3).@&5 mk’m "

a__;!y'mentmned n the stnry

e e

1e fo Ilﬂwmg ismost nearly the QPPGSITE




mﬂﬂkﬁy dl ﬂppﬂd Elmﬂﬁt
hands,

1) While trymg to p:ck up

_ 2) the few fa!!en Ones, o

- 3) the monkey cin:spped a!mmst

_ _.4) all the fruits Enf;ased hIS hands

O)}Noemror

~_ Directions (0, 21
w:th four wurds in bo

Id type is gwen. One ﬂf‘ihﬂ'ﬂ: fnur

&
mark All currect’ as }rﬂur answer

21,._ | LEEdEI‘S and mangers must cnmmun:cate well wath
- --'-E‘mpiuyees Custﬂmers investors and SGciety as a
 whole. |

o T)mangers
~ 4)ywhole S)All correct

. once the knew 1 nanma! year hegms
= b :‘3"-15}1 N knew S 3) f'nanc:a%
4 begms 5) Allcorrect -
_ petitions within the next fortnight. e
. l)dlspnze 2) petitions 3) Wi'i__._hiﬁ

~ 4) fortnight - 5)All correct ' o
-";';-'_-.-hava avaliditie permd = e
. ) Genenally - o 9) al!uw 3-}-1,5'3] id tie
 4)period "5) Al correct |
_financialstablety.
1) Printing 7) threat

43 stabiety _ 5)Ail correct -
Dlrectmns (Q. 26-30): In the gwen passage, there

3) ﬁnﬁﬁcial

Dnce upon a time there lived a spider named Anansi

e
the pot on your back @9)?

Eéféwm&ﬂm he iacked common sense. An gry at hlmselcii'
ev the pot down, where it broke mtﬂ pmccs a.n. .
| hfﬁtt&rﬁd amnng all the creai‘uref; i

- 23 7} vanish
5) uneaﬁ}

37 E}Elr-::d
. B 1 } iaughmg"‘

f all E‘he ﬁ'mts Eﬁﬂﬂggd.h.ls

—25} ln thls questmn a sentenee .

.-wurds gwen in bold may be mther wrungly spt!t or.
inappropriate in the context of the sentence, Find out the

- word which is wrungly speit or mappmpr:ate, Thatword

i
S your answer. lfall the words given in bﬁlﬂ are eurrectly L0n mhﬁrﬁ!sy_mhﬂtﬁ followed by five combinations of letter

5pe!t and also Bppl‘ﬂpr:atg in the cﬂntﬁxt uf th-e sen%ence, e

Z)Cnmmun;cate 3)emplnyees

. lhe gnverﬂmﬂnt will push thmugh E{:{}ngn%-l-ﬂ r.é.ﬁ:}m"s' :_: |
- - Cﬂmmlttees-have been asked to drspwe Df'.a.il g['lﬂ'ﬁim;e
: '._..'_Generall}’ gift cards do nnt gllﬂw g cgsh. re.i“.*uﬁd”and
Prmtmg mﬂﬁﬂ}’ o bﬂﬂﬁi the ecunamg isa t.hreat.t...;, : -

£ e
blanks ﬁach of which has heen numbered. Agamsti.
h, five wurds are suggestcd one of which fits the bla nk.

G pﬂately Find out the appmprnatﬂ word in Each case.

was glﬁed a: pﬂt of wisdom to share among all tha-.' __
tures of the world. But Anansi was unwﬂlmg to share

itk anybﬂdy and decided to (26) the pot at the top ofa
i M' Wlth the p{}t at his waist in front, it was @1} for
Lhmb Secing his father’s ‘awkward ascent,

don't
| 28) and advised him ‘Father, why don’t
i's son was ("“‘} Anans; did so and

fi'ffﬂ':;éas}; to scale the tree. He @ﬂ} that thﬂugh he had -

:-) hldé | o

Ny SRR men w AW SRS S

" "8 el = R e B LS e g T e e A, LA

. Dydiffieuls  3)chullenge
" Sysafely

2) woring Sianxicusiy

4} huay o Sjamused _

29, 1) lied 2 ) alternative 1y subsogient
4) instead S} perhaps

30. 1) realised 2} achieved 31 recognize
4'}'3Wﬂr¥:' i 33 understand

’R&sﬁ Ii: E%mmnmgﬁmlm

L L T L FETTEETIREE S

e

I}:rc{:tmna (0). 31-35): [rt thiS guestion, a group of

codes is given. You have to find out which of the
cumh'i_ﬂ_a:ftiﬂns- correctly represents the group of the
numbers/symbols based on the given coding system and
the ﬂ:ﬂndmnns and mark that combination as your anpswer.

Numb&:i‘f tdt@tsirl+i2]718l&l51%(8]3]819

symh{ii bl

Letter H DLA TIUIEIMILIPIZIBIKIXNIGEY
- cude s | :
(Z‘undiimns - -

1. K the first and the last elements are symbaols then
their codes are to be micrchangec.
Il. If a symbol is immediately followed as well as

immediately preceded by a number then that svmbol

- {s:to be codedas |’

. _"_IH_T[ft'he last element is an odd number then the second

_ element is fo be coded as the code of the odd
- number.

IV If the third element is an even number then the

i _c'::i:id'E of that even number is to be interchanged
. with the code of the first element.
j (E_ﬁléaﬁ& Note: All the elements have (0 be counted
 from jeft to right to fulfil the conditions.)

. DZDXIHE NEOKUHZ NZKEIDH
. HEDXIHZ SYEDUXHZ

32 8A@SOT
. DIMDAIM  2)LTMAKM  3)DTLAKM
. 4ALMKDAM  $5)DTUXAM




........
e e B

15’ ‘g0ing for party is coded as ‘612"
1 pm;y is coded as ‘362, What will be

Mer the given queetiene.

s facin ﬂeeeem:e but nou aecessarily in the same
. 3 sit iihird“m the nghi of T. Only threc peep[e Sit
X. Uis neither an immediate neighbour of §
tl‘uee peeple e:t between T end Ww.Z euLs en

3) Feur 4) Three 5) Gne
V "":;nn,gst the fellewmg represent the lmmedlete
_’fbo’ers of S?

3)w Y 4)w x S)VY
Whi ?ﬁmung the feliewmg sus eeeend te the left ef Y'?
yu W s 9y

R

based zgnthelr positions in the gwen errengement and
na group. Whleh Is the one. thet deee net
*3£e the gl'eup? =

', 2)'1‘w 3) swu 4)}{52

5) vxw

_ peeple sit between V end S
nd to the right ef V

E‘E’ﬂﬂid gﬂmg eui' ie eeded

W.X, Y and Z are sitting ereund 4 etreuler

.%Q-‘:"ﬁiﬂmement“

ﬂfﬂle fﬂliﬂW{ng f' ve HI'E Ell!k ¢ !H E’l ce I'{Hll.'] WE}"

. " ewe”?.**“
Ceeeiuem oK
;;mmmimemm

- ;z} {}njy emehmee i I:e trae.

u;(;;s <

:-'-'4} wmm eﬁeeleeeeei Hor El ie tme

. 5} Onmly eeneiee:ee II is true.

45"T-'-'ﬁatmls. aexgs Bex
Ceueiueeeeee | l T <8 111
D) Only eeeelue:en s i

' 2) Either conclusion l or [l is true
| 3) Nelthcf ee:eelee:en i nor I! ie u*ue

o 4} Gni}f eenelue;en Tis e

e ;.=_5) Both eeneiuemn fand H ere [rug
: Hevap 'E>R
- .'.f.‘--'Ceneleeiene. - LE= H
.__-_;-ZI) Both eeneieelen 1 and ii ere true

L '1’

. 2) Only conclusion 11 is true.

_ 3) Neither conclusion | nor li is trur..
- '- -_-.,._4) Eﬂ;her eeeeiuelen borlli ie Lrue
5} Gnly eeeeluelen I is true.

' = UeNgﬁ
3-'_::Ceneleeieee, . L J<E

g
1} Both conclusion I and Il ere true |

2) Dniy Cﬁnﬂ]tElﬂn i 8 true
."':'3’3) Only conglusion [1 § is tree

4) Either conelusion l or 1] is true

 5) Neither conglusion I nor I1 is true.
48 Statement:  D<0O> N ZKeY
. Conclusions; -

1) Either conclusion Foril tS rrue
. 2 0only eeneme:en 1istrue.

; ' . 3 Both eeneleeiee I and ! ere true

LD Kk ILY-

ﬁ.5'4) Neither eeneluelen I nor Il le true
| r--S) Only conclusion 11 is true.
. Directions (Q, 49-53} This qeeetien is bemt an (he
f' ve three—djgit nembm ghven beiew. .
e i T see

. 49 If "2 15 ﬁﬂﬂbﬂ iﬁ ﬂ‘lﬁ ﬁﬁt digit efevery odd nutnlu

Bﬁd =3 ﬁ 3“bt{ﬂ¢tﬁd ﬁ"ﬂ’ﬂl thﬁ thl!‘d digll ol L\’LH evel
nmbﬁi" flhﬂ’lljﬂ hﬁw maﬁ-}’ m-lmbﬂfﬁ Wll] i dl;fﬁlt ‘lm‘u il
3) 'I’we

4}?‘4&“& ﬁ] ]nm
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itative Am:mde

ETEe

nnow, the avﬂrage af Monu’s _Eigﬂ‘_; that

e

ltmﬁs ﬂf hnw'm_an}r
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ﬂﬁ'ﬂ Ve
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spf:ed uf ; the twa

and f3_mfs ESWWEIF Hﬂw much time

“‘da}é and

LIi.“

]lﬂ

&

LS N,

e

e

thé ﬁrst numb-er ls equal tﬂ 60% ﬂf ihe semnd nﬁmb

¢

i

.\.-\. o

=0l the"speed Df the boat

r
e

ONT1s JEom Bic . Jmned with
ﬂﬂ-lﬂ\fﬁ_ﬂﬂﬂ&ﬂt nf «Tﬁ{}{m_ At the end of H] months frmn

the start'uf the busmess A addﬂd addltmnal amoun i

of ?lﬁﬂﬁ ilfﬁs sh_ﬂ_x_'e_ m'the annual' profit was T162(

45 days rexpectwely
qgemﬁ?fﬂﬂd*ﬂﬁer fﬁw day




) 28 3) 265  4) 256 5) 192
he p‘.__l:ﬂﬁfteamed by selling an article fm*?ﬁ 90 is dc-uble

i L
'\._.:"‘;QF.-}_E

3)?424

i BSEED b e 2]
gy . Z-
. -.::_

“136 D
128 | 185 EEH

139 | 112 164
[54 | 135 89
e - 126 | 218 | 101 1120

96 What is the dlffﬁrence between the total number of

memhers in health clubs A and B together in 2007 and

that in health club D and E together in 20117

=1) 131 2123 3121 4127  5)133

3 |

97, If44% {}f the tntal numbers of healthclubs A, Band C

.:Iﬂgﬁ’[hﬂf in 2008 are males, what is the total number of
‘male members in health clubs A, B and C together in
i 2{]{]39 e
1) 155 - 23170 3) 160 4) 163 5175
98. The numbﬂr of members in health club A increased by
what per cent from 2009 to 2011?
1)55% 2)80% 3)65% 4)50% 5)75%
99. What is the average number of members in health club
~ B,CandEin2010?
D132 2)126

3122 4124 5128

100. What is the ratio of the total number of members in

health club C in 2007 and 2009 together to that in health
club E in the same years together?
1Hi17:23 2)19.23 301 42103 5y 2
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